
 

Seat No.: ________                                                     Enrolment No.______________  

 

GUJARAT TECHNOLOGICAL UNIVERSITY 
DIPLOMA ENGINEERING – SEMESTER – III • EXAMINATION – WINTER 2015 

 

Subject Code: 3335003 Date:   17/12 /2015      

Subject Name: Surveying & Levelling 

Time: 10:30 AM TO 01:00 PM Total Marks: 70 
Instructions: 

1. Attempt any five questions.  

2. Make suitable assumptions wherever necessary. 

3. Figures to the right indicate full marks.  

4. Each question carry equal marks (14 marks) 
 

Q.1 (a) Give general principles of surveying and write detailed classification of  

Surveying. 
07 

 (b)  (i)  Explain Direct Ranging and Indirect Ranging 

 (ii) List out instruments necessary for Chain surveying. 
07 

    
Q.2 (a) What do you mean by obstacles in chaining, List different situation of 

obstacles and explain how will you carry out chaining when some river is 

coming between chain line. 

07 

 (b) Explain in short  

(i)     True Meridian  (ii) Magnetic Meridian  (iii) Arbitary Meridian   

(iv) Magnetic Declination   (v) Dip of magnetic needle  (vi)  Fore Bearing   

(vii)    Back Bearing 

07 

  OR  

 (b) Draw neat sketch of Prismatic Compass and label various parts. 07 

    
Q.3 (a) Explain Adjustment of Closing error in closed traverse. 07 

 (b) Convert following  

(a) Fore bearing into Back Bearing 

(i) 310 º 30’ (ii) S 60 º 15’ W 

(b) Back bearing into Fore Bearing 

 (i) 215 º 30’ (ii)  S 40 º 15’ E 

(c) Reduced Bearing into whole circle bearing 

(i) N 25 º 30’ E (ii) N 25 º 30’ W (iii)  S 25 º 30’  E 

07 

  OR  

Q.3 (a) Write Short note on  

(i) Whole Circle Bearing,  (ii) Reduced Bearing  (iii)  Local Attraction 
07 

 (b) Following bearings were observed while running a closed traverse. Correct 

the bearing for local attraction and calculate correct bearings of the lines. 

 

       Line                   Fore Bearing              Back Bearing 

        AB                        1910 45’                      130 00’ 

        BC                          390 30’                    2220 30’ 

        CD                          220 15’                    2000 30’ 

        DE                        2420 45’                       620 45’ 

        EA                        3300 15’                     1470 45’      

07 



 

 

 

    
Q.4 (a) Draw neat sketch of Dumpy level and label parts. 07 

 (b) The following consecutive readings were taken with a level at a 

interval of 30 m. The R.L. of first point is 30.00 m. 

1.895, 1.500, 1.865, 2.570, 2.990, 2.020, 2.410, 2.520,and  2.960. 

The instrument was shifted after the fourth, Sixth  reading. Rule out a page of 

level book and enter the above readings. Calculate the R .L. of all points 

USING HI METHOD. Also apply arithmetic checks. 

07 

  OR  

Q. 4 (a) Explain Temporarily adjustments of level. 07 

 (b) The following consecutive readings were taken with a level at a 

interval of 30 m. The R.L. of first point is 30.00 m. 

1.895, 1.500, 1.865, 2.570, 2.990, 2.020, 2.410, 2.520, and 2.960. 

The instrument was shifted after the fourth, Sixth  reading. Rule out a page of 

level book and enter the above readings. Calculate the R .L. of all points 

USING RISE AND FALL METHOD. Also apply arithmetic checks. 

07 

    
Q.5 (a) Define contour lines ? Enlist uses of contour  map. Draw contour lines for the 

following. 

1. Ridge  2. Valley   3. Vertical cliff   4. Overhanging cliff. 

07 

 (b) Explain Following terms  

(i) Levelling      (ii)  Datum line     (iii)  Bench Mark   (iv)  Backsight   

(v) Foresight    (vi) Change point  (vii) Reduced Level 

07 

  OR  

Q.5 (a) Explain different uses of contour map and give main characteristics of 

contours. 
07 

 (b) Explain types of levelling staff used in surveying. 07 
 

************ 



ગજુરાતી 
પ્રશ્ન. ૧ અ સર્વેક્ષણના સસધ્ધાત ંજણાર્વો તથા સર્વેક્ષણના પ્રકાર સમજાર્વો. ૦૭ 

 બ (i) પ્રત્યક્ષ તથા અપ્રત્યક્ષ આરેખણ સર્વશે સમજાર્વો. 
(ii) સાાઁક્ળ સરે્વક્ષણ માટે જરૂરી સાધનોની યાદી બનાર્વો. 

૦૭ 

    
પ્રશ્ન. ૨ અ સાાઁક્ળ સરે્વક્ષણ માાઁ આર્વતી જુદી જુદી અડ્ચણો સર્વશે સમજાર્વો.  સાાઁક્ળ સર્વેક્ષણ 

કરતી ર્વખતે રેખા ર્વચ્ચે જો નદી આર્વતી હોય તો સરે્વક્ષણ કેર્વી રીતે કરી 
શકાય, સમજાર્વો. 

૦૭ 

 બ ટુાઁક માાઁ સમજાર્વો. 
(ii)     સાચ ુમેરીડીયન (ii) ચુાઁબકીય મેરીડીયન (iii) આબીટરી મેરીડીયન 
(v) ચુાઁબકીય ડેકલીનેશન (v) ચુાઁબકીય સોય ન ુડીપ (vi)  અગ્ર બેરીઁગ  
 (vii)    પશ્વ બેરીઁગ  

૦૭ 

  અથર્વા  

 બ પ્રીઝમેટીક કાઁપાસ ની સ્ર્વચ્છ આક્રુતી દોરી તેના ભાગો દશાાર્વો. ૦૭ 

    
પ્રશ્ન. ૩ અ બધ ંમાલારેખણ માાઁ સમાપન ત્રટુી દુર કરર્વાની રીત સમજાર્વો. ૦૭ 

 બ નીચે જણાવ્યા પ્રમાણે ફેરર્વો. 
(a) અગ્ર બેરીઁગ માાઁથી  પશ્વ બેરીઁગ  

(i) 310 º 30’    (ii) S 60 º 15’ W 
(b) પશ્વ બેરીઁગ માાઁથી અગ્ર બેરીઁગ  

 (i) 215 º 30’ (ii)  S 40 º 15’ E 
(c) વ્રતપાદ બેરીઁગ માાઁથી પણુાાવ્રત બેરીઁગ 

(i) N 25º 30’ E (ii) N 25º 30’ W (iii)  S 25º 30’  E 

૦૭ 

  અથર્વા  

પ્રશ્ન. ૩ અ ટુાઁક નોઁધ લખો.  
(i) પણુાાવ્રત બેરીઁગ  (ii) વ્રતપાદ બેરીઁગ  (iii)  સ્થાસનક આકર્ાણ 

૦૭ 

 બ કાઁપાસ માલારેખણ દરમયાન નીચેની બેરીઁગ લેર્વામા આરે્વલ છે. સ્થાસનક 
આકર્ાણ માટે બેરીઁગમા સધુારો કરો.  
 
      Line                   Fore Bearing              Back Bearing 
        AB                        1910 45’                      130 00’ 
        BC                          390 30’                    2220 30’ 
        CD                          220 15’                    2000 30’ 

૦૭ 



        DE                        2420 45’                       620 45’ 
        EA                        3300 15’                     1470 45’      
 
 

    
પ્રશ્ન. ૪ અ ડ્્પી લેર્વલ ની આક્રુતી દોરી તેના ભાગોદશાાર્વો. ૦૭ 

 બ ડાઁપી લેર્વલની મદદથી મેદાનમા ૩૦ મી. ના અઁતરે તલેક્ષણ દંડ ર્વડે નીચે 
પ્રમાણે અર્વલોકનો લેર્વામા ંઆવ્યા:  
1.895, 1.500, 1.865, 2.570, 2.990, 2.020, 2.410, 2.520, 2.960. 
લેર્વલને ચોથા, છ્્ઠઠા રીડીઁગ પછી ખસેડર્વામા આરે્વલ હ્તો. પહલેા બબિઁદુનો R.L. 
30.00મી હત.ુ લેર્વલ બકુન ુપાન ુ દોરી બધા જ બબિઁદુઓ ના R.L. હાઇટ ઓફ 
ઇંન્સ્ટ્સ્ુમેંટ એક્ષીસ (HI) ની રીતથી શોધો. જરૂરી તાળો મેળર્વો..  

૦૭ 

  અથર્વા  

પ્રશ્ન. ૪ અ લેર્વલ ન ુહાઁગામી(અસ્થાયી) સમાયોજન સમજાર્વો. ૦૭ 

 બ ડાઁપી લેર્વલની મદદથી મેદાનમા ૩૦ મી. ના અઁતરે તલેક્ષણ દંડ ર્વડે નીચે 
પ્રમાણે અર્વલોકનો લેર્વામા ંઆવ્યા:  
1.895, 1.500, 1.865, 2.570, 2.990, 2.020, 2.410, 2.520, 2.960. 
લેર્વલને ચોથા, છ્્ઠઠા રીડીઁગ પછી ખસેડર્વામા આરે્વલ હ્તો. પહલેા બબિઁદુનો R.L. 
30.00મી હત.ુ લેર્વલ બકુન ુપાન ુદોરી બધા જ બબિઁદુઓ ના R.L. રાઇસ એન્સ્ટ્ડ 
ફાલ  ની રીતથી શોધો. જરૂરી તાળો મેળર્વો..  

૦૭ 

    
પ્રશ્ન. ૫ અ સમોચ્ચ રેખાની વ્યાખ્યા આપી તેના નક્શા ના ઉપયોગો જણાર્વો.નીચે આપેલ 

સ્સ્થતી માટે સમોચ્ચ રેખા દોરો. 
1. ધાર  2. ખીણ   3. ઉધ્ર્વા સશલા.  4. લટકતી સશલા. 

૦૭ 

 બ નીચે જ્ણાર્વેલ પદો સમજાર્વો.  
(ii) તલેક્ષણ     (ii)  ડેટમ રેખા (iii)  તલબચહન (iv)  પ્શ્શ્વાર્વલોકન 
(v) અગ્રાલોકન   (vi) દદશા બદલ બબિંદુ  (vii) સાપેક્ષ ઉઁચાઇ 

૦૭ 

  અથર્વા  

પ્રશ્ન. ૫ અ સમોચ્ચરેખા નકશા ના ઉપયોગો જણાર્વો અને સમોચ્ચરેખાની લાક્ષણીકતાઓ 
સમજાર્વો. 

૦૭ 

 બ સરે્વક્ષણ માાઁ ર્વપરાતા આરેખણ દાઁડના પ્રકારો સર્વશે સમજાર્વો. ૦૭ 

 

************ 

 


